
41 �����

41 �����

41.1 ���������������

����� (expand)✓ ✏
��� f���������

1 f.expand ()

���

1 expand(f)✒ ✑
��� (x+ 1)3 ���������������

1 f = (x+1)^3

2 print f.expand ()

������
x^3 + 3*x^2 + 3*x + 1

�� f ����� (factor)✓ ✏
�� f�����������

1 f.factor ()

���

1 factor(f)✒ ✑
��� x3 + 3x− 2x− 6��������������

1 f = x^3 + 3*x^2 - 2*x - 6

2 factor(f)

������
(x + 3)*(x^2 - 2)

������factor���������������������������������������

���� solve������

����������� simplify������

�� f ���� (simplify� simplify full)✓ ✏
����� f������������

1 f.simplify () � � � simplify(f)

������������������������������������

1 f.simplify_full () � � � simplify_full(f)✒ ✑
���� f = x2 + 2x+ 5− 3x������������

1 f = x^2 + 2*x + 5 - 3*x

2 simplify(f)
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41.2 x105 − 1����� 41 �����

������
x^2 - x + 5

simplify�������������������������simplify_full�����������

�����

1 sage: f = sin(x)^2 + cos(x)^2

2 sage: f.simplify () # simplify � sin ^2+ cos ^2=1� � � � �

3 sin(x)^2 + cos(x)^2 # � � � �

4 sage: f.simplify_full () # � � � � �

5 1 # 1� � �

41.2 x105 − 1�����

�������������������������������������x20 − 1�������

��������������

1 factor(x^20 - 1)

���

(
x8 − x6 + x4 − x2 + 1

)(
x4 + x3 + x2 + x+ 1

)(
x4 − x3 + x2 − x+ 1

)(
x2 + 1

)
(x+ 1)(x− 1)

������������xn − 1������������������ ±1��������������

��������������������

1 factor(x^105 - 1)

(
x48 + x47 + x46 − x43 − x42 − 2x41 − x40 − x39 + x36 + x35 + x34 + x33 + x32 + x31 − x28 − x26

− x24 − x22 − x20 + x17 + x16 + x15 + x14 + x13 + x12 − x9 − x8 − 2x7 − x6 − x5 + x2 + x+ 1
)

×
(
x24 − x23 + x19 − x18 + x17 − x16 + x14 − x13 + x12 − x11 + x10 − x8 + x7 − x6 + x5 − x+ 1

)

×
(
x12 − x11 + x9 − x8 + x6 − x4 + x3 − x+ 1)(x8 − x7 + x5 − x4 + x3 − x+ 1

)

×
(
x6 + x5 + x4 + x3 + x2 + x+ 1

)(
x4 + x3 + x2 + x+ 1

)
(x2 + x+ 1

)(
x− 1

)

��������������������������� ±1����� 2������

41.3 ����������

����

x2

(x+ 1)2
=

−2

x+ 1
+

1

(x+ 1)2
+ 1

�����������������������

� f �������✓ ✏
1 f.partial_fraction ()✒ ✑
��
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41.4 ��� 41 �����

1 sage: f = x^2/(x+1)^2

2 sage: f.partial_fraction ()

3 -2/(x + 1) + 1/(x + 1)^2 +1

������ factor������

1 sage: g = -2/(x + 1) + 1/(x + 1)^2 +1

2 sage: g.factor ()

3 x^2/(x + 1)^2

41.4 ���

�� x���� x����������� a0 = ⌊x⌋���x1 = 1/(x− a0)����������

x = a0 +
1

x1

������ a1 = ⌊x1⌋�x2 = 1/(x1 − a1)����

x = a0 +
1

a1 +
1

x2

��������������

x = a0 +
1

a1 +
1

a2 +
1

a3 +
1

a4 + · · ·
������������x���������������������������������

x = [a0 : a1, a2, a3, a4, · · · ].

x�����������������������������������

345

29
=11 +

26

29
= 11 +

1

1 +
3

26

= 11 +
1

1 +
1

8 +
2

3

=11 +
1

1 +
1

8 +
1

1 +
1

2

����� 345/29 = [11; 1, 8, 1, 2]���������������������������������

���������

�������✓ ✏
�� a�������

1 continued_fraction(a) # � � � � � �

2 continued_fraction_list(a, � � � � �) # � � � � � � � � � �

���������������� bits=40���������✒ ✑
��
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41.5 ����� 41 �����

1 sage: continued_fraction (345/29)

2 [11, 1, 8 , 1, 2]

3 sage: continued_fraction(sqrt (2))

4 [1; 2, 2, 2, 2, 2, 2, 2, 2, 2, 2, 2, 2, 2, 2, 2, 2, 2, 2, 2, ...]

������������������������������������
√
2 = [1; 2, 2, 2, 2, · · · ]���

�� continued fraction list�������������������������������

1 sage: a = continued_fraction_list(sqrt(3), bits =40) #40� � � � � �

2 sage: a

3 [1, 1, 2, 1, 2, 1, 2, 1, 2, 1, 2, 1, 2, 1, 2, 1, 2, 1, 3]

�����������������������������������������

1 sage: continued_fraction(RealField (400)(e)) # � � � � � � � � � �

2 [2; 1, 2, 1, 1, 4, 1, 1, 6, 1, 1, 8, 1, 1, 10, 1, 1,

3 12, 1, 1, 14, 1, 1, 16, 1, 1, 18, 1, 1, 20, 1, 1, 22,

4 1, 1, 24, 1, 1, 26, 1, 1, 28, 1, 1, 30, 1, 1, 32, 1,

5 1, 34, 1, 1, 36, 1, 1, 38, 1, 1, 40, 1, 1, 42, 1, 1,

6 44, 1, 1, 46, 1, 1, 48, 1, 1, 50, 1, 1, 52, 1, 1, 54,

7 1, 1, 56, 1, 1, 58, 1, 1, 60, 1, 1, 62, 1, 1, 64, 1, 1,

8 66, 1, 1, 68, 2]

�������� RealField(400)(e)����� e������������

41.5 �����

Sage�����∞� oo�������������������������� limx→a f(x)����

�� limit(....)������

� f ���✓ ✏
�� f ���

lim
x→a

f(x) lim
x→a+0

f(x) lim
x→a−0

f(x)

����������������

1 f.limit(x = a) � � � limit(f, x=a)

2 f.limit(x=a, dir=’+’) # � � �

3 f.limit(x=a, dir=’-’) # � � �✒ ✑
����������������������

e = lim
x→∞

(
1 +

1

x

)x

1 sage: f = (1 + 1/x)^x

2 sage: f.limit(x=oo)

3 e # � � � �
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41.5 ����� 41 �����

4 sage: n(e)

5 2.71828182845905

����� f.limit(x=oo)��� limit( f, x = oo)�����������

�������������������

1 sage: limit (1/x, x=0, dir=’+’) # � � �

2 +Infinity # � � � � �

3 sage: limit (1/x, x=0, dir=’-’) # � � �

4 -Infinity # � � � � �

��������������������

1 sage: limit (1/x, x=0)

2 Infinity

������Infinity����� +∞�����������������
������

lim
x→0

xa (8)

������������������������� a �����������������assume �

��� a���������������������

���������������� Restart worksheet����������������

1 var(’a’)

2 limit(x^a, x=0)

������
Traceback (click to the left of this block for traceback)
...
Is a positive, negative, or zero? #a��������

��� a > 0������

1 var(’a’)

2 assume(a>0) # a>0� � � � �

3 limit(x^a, x=0)

������
Traceback (click to the left of this block for traceback)
...
Is a an integer? #����������

������������������

1 var(’a’); assume(a>0)

2 limit(x^a, x=0, dir=’+’) # � � �

������
0

�� a���������������������

1 var(’a’);

2 assume(a,’even’)

3 limit(x^a, x=0)

������
0
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41.6 �������� 42 �����

41.6 ��������

Sage��������� sum����������������������������������

b∑

k=a

f(k)�����✓ ✏
1 var(’k’) # k������

2 sum(f(k),k,a,b)

1������������������ k �����������✒ ✑
��� 1 + 2 + · · ·+ 50�����������

1 var(’k’); sum(k,k,1,50)

������
1275

sum����������������

m∑

k=1

k =
m(m+ 1)

2

����������������������

1 sage: var(’k m’) # k� m������

2 sage: ans = sum(k,k,1,m) # � � � � � � a n s���

3 sage: print ans # a n s�������

4 1/2*m^2 + 1/2*m # � � � � �

5 sage: factor(ans) # a n s�����

6 1/2*(m + 1)*m # � � � � � � � � � � � � �

������������������

∞∑

k=0

1

k!
= e,

∞∑

k=1

1

k2
=

π2

6
,

∞∑

k=1

2−k

k(k + 1)
= − log 2 + 1

1 var(’k’)

2 print sum (1/ factorial(k),k,0,oo)

3 print sum (1/k^2,k,1,oo)

4 print sum(2^(-k)/(k*(k+1)),k,1,oo)

������
e
1/6*pi^2
-log(2) + 1

42 �����

42.1 ���������� “==”

Python���=�������������������������
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42.2 ������������solve� 42 �����

1 >>> x = 3

2 >>> print x

3 3

������ x���������x�� 3������������==�������������if��

while������������������������

1 >>> 2**3 == 8

2 True

3 >>> 8 > 9

4 False

���������Sage����������==���������������������������

1 var(’y’)

2 x^2 + y^2 == x*y + 1 # � � � � � � � � �

���������������������������������������������

1 var(’y’) # y � � � �(= � � � � �) � � � �

2 f = x^2 + y^2 == x*y + 1 # � � f���� x ^2+y^2==x*y+1� � �

���������� f������������������

1 print f # f�����

2 print f.rhs() # f � � � � � � � �

3 print f.lhs() # f � � � � � � � �

������
x^2 + y^2 == x*y + 1
x*y + 1
x^2 + y^2

��� rhs, lhs��������right hand side�����left hand side������

42.2 ������������solve�

f(x) = g(x)���� x������ solve������

��� f(x) = g(x)���✓ ✏
1 solve(f(x)==g(x),x) # f(x)=g(x)� x������

��������==���������✒ ✑
��� 2x+ 3 = 7����������

1 solve (2*x+3==7,x)

������
[x==2]

�� x, y ������������������������

����������� (solve)✓ ✏
1 var(’y’)

2 solve([� ��1 ,� ��2] ,x,y)✒ ✑
�������� x+ y = 6, x− y = 4��������������
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42.2 ������������solve� 42 �����

1 var(’y’)

2 solve([x+y==6, x-y==4], x,y)

������
[[x == 5, y == 1]]

������� x3 + 2 ∗ x+ 1 == 0����������

1 solve(x^3+2*x+1==0)

�����������������������
������

[x == -1/2*(1/18*sqrt(59)*sqrt(3) - 1/2)^(1/3)*(I*sqrt(3) + 1) - 1/3*(I*sqrt(3) - 1)/(1/18
*sqrt(59)*sqrt(3) - 1/2)^(1/3), x == -1/2*(1/18*sqrt(59)*sqrt(3) - 1/2)^(1/3)*(-I*sqrt(3)
+ 1) - 1/3*(-I*sqrt(3) - 1)/(1/18*sqrt(59)*sqrt(3) - 1/2)^(1/3), x == (1/18*sqrt(59)
*sqrt(3) - 1/2)^(1/3) - 2/3/(1/18*sqrt(59)*sqrt(3) - 1/2)^(1/3)]

������������������������������������������������

�����������������������

1 a = solve(x^3+2*x+1==0,x)

2 print a[0]; print ""

3 print a[1]; print ""

4 print a[2]

������
x == -1/2*(1/18*sqrt(59)*sqrt(3) - 1/2)^(1/3)*(I*sqrt(3) + 1) - 1/3*(I*sqrt(3) - 1)/(1/18
*sqrt(59)*sqrt(3) - 1/2)^(1/3)

x == -1/2*(1/18*sqrt(59)*sqrt(3) - 1/2)^(1/3)*(-I*sqrt(3) + 1) - 1/3*(-I*sqrt(3) - 1)/(1/
18*sqrt(59)*sqrt(3) - 1/2)^(1/3)

x == (1/18*sqrt(59)*sqrt(3) - 1/2)^(1/3) - 2/3/(1/18*sqrt(59)*sqrt(3) - 1/2)^(1/3)

���������������������������������� rhs()����

1 a = solve(x^3+2*x+1==0,x)

2 a[0]. rhs()

������
-1/2*(1/18*sqrt(59)*sqrt(3) - 1/2)^(1/3)*(I*sqrt(3) + 1)
- 1/3*(I*sqrt(3) - 1)/(1/18*sqrt(59)*sqrt(3) - 1/2)^(1/3)

�����solve�����������������������������������������

�������������������������������������������������

���������

1 solve(x^5+3*x+1==0,x)

������
[0=x^5+3x+1]

��������������������������������������

1 solve(x^5+x+1==0,x)

������
[x == -1/2*(I*sqrt(3) + 1)*(1/18*sqrt(3)*sqrt(23) - 25/54)^(1/3) -
1/18*(-I*sqrt(3) + 1)/(1/18*sqrt(3)*sqrt(23) - 25/54)^(1/3) + 1/3, x ==
-1/2*(-I*sqrt(3) + 1)*(1/18*sqrt(3)*sqrt(23) - 25/54)^(1/3) -
1/18*(I*sqrt(3) + 1)/(1/18*sqrt(3)*sqrt(23) - 25/54)^(1/3) + 1/3, x ==
(1/18*sqrt(3)*sqrt(23) - 25/54)^(1/3) + 1/9/(1/18*sqrt(3)*sqrt(23) -
25/54)^(1/3) + 1/3, x == -1/2*I*sqrt(3) - 1/2, x == 1/2*I*sqrt(3) - 1/2]

���������������������������������

1 solve(sin(x)==1/2 ,x)
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42.3 ��������find root� 43 �����

������
[x == 1/6*pi]

���������� x = 1
6π − π ���������������������������������

��������������

1 solve(sin(x)*cos(x)==1/2 ,x)

������
[sin(x) == 1/2/cos(x)]

������ solve����������������������������

42.3 ��������find root�

������������� find_root������

���������� [a, b]�����✓ ✏
1 find_root(� �� ,a,b)

find_root���������������� 1�����������✒ ✑
��x2 + 2x− 9 = 0��� [−5, 5]����������������

1 sage: find_root(x^2+2*x-9==0,-5,5)

2 2.1622776601683791

�������������������������������������������������

1 find_root(x^2+2*x-9==0,-2,2)

������
Traceback (click to the left of this block for traceback)
...
RuntimeError: f appears to have no zero on the interval

������������� f ������� 0���������������find_root������

������������������������������������������

1 sage: find_root(tan(x)==8-x^3,-10,10)

2 2.1261689044831993

���������������������������������������������

1 sage: find_root(x^400,-5,5)

2 0.13155619723565876

������������ x = 0������������������ Newton�����������

�������������������������������������������

43 �����

�� f(x)�����������
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43 �����

�����✓ ✏
�� f(x)����������������

1 diff(f,x)

2 derivative(f,x)

3 f.derivative(x)✒ ✑
��

1 sage: diff(sin(x),x)

2 cos(x)

Sage������������������

�������✓ ✏
�� f(x)�����

∫
f(x)dx���������

1 integral(f(x),x)

2 integrate(f(x),x)

����������������������������������✒ ✑
��

1 sage: integral(sin(x),x)

2 -cos(x)

3 sage: integral(x^4)

4 1/5*x^5

5 sage: integral (1/(1 -x^3))

6 1/3* sqrt (3)* arctan (1/3*(2*x + 1)* sqrt (3)) - 1/3* log(x - 1)

7 + 1/6* log(x^2 + x + 1)

���������������������������

1 sage: integral(sin(x)/log(x),x)

2 -(log(x)* integrate(cos(x)/(x*log(x)^2), x) + cos(x))/log(x)

�������integrate����������������������

������������������������������������������������

1 a = var(’a’)

2 integral(cos(a*x),x)

������
sin(a*x)/a
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43.1 �������������������� 43 �����

������✓ ✏
�� f(x)����

∫ b

a

f(x)dx��������

1 integral(f,x,a,b)

2 integral(f,(x,a,b))

3 f.integral(x,a,b)

�� integral����� integrate�����������✒ ✑
��

1 sage: integral(x^2,x,0,2)

2 8/3

43.1 ��������������������

�������������������������������������� (1 − x4)−1/2 ���

��� integral�������������
∫ 1

0
(1− x4)−1/2dx�������������������

1 ans = integrate (1/ sqrt((1-x^4)),0 ,1) # � � � � a n s���

2 print ans # a n s�����

3 print n(ans) # a n s��������

������
1/4*beta(1/4, 1/2)
1.31102877714606

��� beta������

β(x, y) =

∫ 1

0

tx−1(1− t)y−1dt

���Sage 4x ������������������������������������� Maxima

���������������Sage 5x �������������������������

�������������

∫ ∞

0

x3

ex − 1
dx =

π4

15
(9)

�������������������������������������������������

����

1 f = x^3/(e^x-1) # � � f���

2 integrate(f,x,0,oo) # f(x)�0 � � � � � � �

Sage 8.2������������������
������

-1/15*pi^4 + limit(-1/4*x^4 + x^3*log(-e^x + 1) + 3*x^2*dilog(e^x) - 6*x*polylog(3, e^x)
+ 6*polylog(4, e^x), x, +Infinity, minus)

������������������������������������������������

��������

1 f = x^3/(e^x-1) # � � f���

2 integrate(f,x,0,oo ,’giac’) # � � � �� ’ giac’� � � �
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43.2 ���� 43 �����

������
1/15*pi^4

Sage�����������������������������������������

• ’maxima’ : ����������������������

• ’sympy’ : sympy����Sage��������

• ’mathematica free’ : Wolfram alpha����

• ’fricas’ : FriCAS������������������������

• ’giac’ : Giac����

43.2 ����

integrate������������������������������������������

���� numerical_integral�������������������������

Sage������������������

�� f(x)�����

∫ b

a

f(x)dx✓ ✏
1 numerical_integral(f(x),a,b)

����� (����)������������ max_points������������������

����������✒ ✑
��

1 sage: numerical_integral(sin(x),0,pi)

2 (1.9999999999999998 , 2.220446049250313e-14)

��������� 2���������������������������������������

����������� 2 ∗ 10−14 ���������������������������������

������������������������������������������ 0������

�����������������

1 sage: val = numerical_integral(sin(x),0,pi)

2 sage: val[0]

3 1.9999999999999998

�������������������������������������������������

������������������������������������������������

���� numerical_integral���������������������������������

������������������������������� 87����������������

���������������� 0.0001�����������������������������

�������

1 sage: numerical_integral(sin(1/x),0,1)

2 (0.5040702199680797 , 0.00012692441400448108)

3 sage: numerical_integral(sin(1/x),0,1, max_points =1000)

4 (0.5040670267347616 , 1.4633387576762725e-05)
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44 TAYLOR��

numerical_integral � GNU Scientific Library(GSL) ��������� C �����������

�����maxima����������������������������������������

���������������������
∫ b

a

f(x)dx����� (maxima���)✓ ✏
1 f.nintegral(x,a,b,� �)

����� (�, ��, ��������, ������)������✒ ✑
������� 0�� 6����

• 0 : �����

• 1 : �����������

• 2 : ����������

• 3 : �������������

• 4 : �����

• 5 : �����������������������

• 6 : ��������

���������������������

1 sage: f=sin(1/x); f.nintegral(x,0,1)

2 (0.50411061321101469 , 3.4994456304171528e-05, 8379, 1)

����������� 5������������������������������� 1�����

�������� 1/100�����������

1 sage: f=sin(1/x); f.nintegral(x,0 ,1 ,1/100) # � � �1/100 � � �

2 (0.50279836327622895 , 0.0046840581358000843 , 567, 0)

������������� 0��� 0.01������������������������

44 Taylor��

44.1 Taylor��

f �������������������f � Taylor�� (��� Taylor��)��

f(x) = f(a) +
f ′(a)
1!

(x− 1) +
f ′′(a)
2!

(x− a)2 + · · ·+ f (n)(a)

n!
(x− a)n + · · ·

�������� a = 0����Maclaurin��������Taylor�������������

Taylor��� f(a) + f ′(a)
1! (x− 1) + f ′′(a)

2! (x− a)2 + · · ·+ f(n)(a)
n! (x− a)n✓ ✏

�� f(x)� x=a���� x����� n���� Taylor������

1 taylor(f(x),x,a,n)✒ ✑
����ex � x = 0����� 3���� Taylor���

1 taylor(e^x,x,0,3)
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44.2 ����Taylor������������� 45 ����

������
1/6*x^3 + 1/2*x^2 + x + 1

������2���� f(x, y)� Taylor���

2���� f(x, y)�� (a, b)����� n���� Taylor��✓ ✏
1 taylor(f(x,y),(x,a),(y,b),n)✒ ✑
�������

1 var(’y’)

2 taylor(sin(x+y),(x,0),(y,0),4)

����������������

−1

6
x3 − 1

2
x2y − 1

2
xy2 − 1

6
y3 + x+ y

44.2 ����Taylor�������������

�������cos(x)��� Taylor��� x10 ������������������������

1 f = taylor(cos(x),x,0,10) # f�cos (x)�10 � � � � � �

2 p1 = plot(f,(x,-9,9)) # f����

3 p2 = plot(cos(x),(x,-9,9), color=’red’) # cos(x)� � � �

4 p = p1 + p2; # � � � � � � � � � � � � � p���

5 p.show(ymin=-10,ymax =5) # p���

�� �

���

��

��

��

��

�

�

45 ����

��������� Sage�������������

���������

(1) lim
h→0

(x+ h)3 − x3

h
(2) lim

x→∞

(
xx

x!

)1/x

(3) lim
x→∞

arctan(x)

���������������� x!� factorial(x)�

(4)
3x− 37

(x+ 1)(x− 4)
(5)

9− 9x

2x2 + 7x− 4
(6)

4x2

(x− 1)(x− 2)2
(7)

8x2 − 12

x(x2 + 2x− 6)

97



45 ����

���� 11��������������

(8) ��� = golden ratio (9) ��� = pi

����� x������

(10) sin(cx)�c����

(11) |x|/(1 + x2)(��� |x|� abs(x)������(absolute value��))

�� x�����������������

(12)
1

a+ x
(13) ax (14)

1√
a2 + x2

����������������������������

(15) x2��� [0, 1]

(16) sin(x), �� [0,π]

(17) x cos(x)��� [0,π]

���������x = 0����� 5����������������

(18) x2ex

(19) sin(x)/(1 + x2)

��������������� Sage�������������������� answer.sage���

���������������������� sage answer.sage�����������������

��� (print)�����������������������������

•������answer.sage

1 # -*- coding: utf -8 -*-

2 print ’(1)’,

3 var(’h’)

4 f1 = ((x+h)^3-x^3)/h

5 print limit(f1 ,h=0)
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